Fliggvények — Hatarérték, folytonossag.

I. a. rész

2 2 -2 /12 — 4 2 _ 4
Lolim —2—, 2 lim 2T 3 hm Y 4 i YT
r—o00 2 — 4 T——00 r—1 T—00 Jj—|—2

. vVer+2-—-1
5 lim —+—

6. lim Yxln|z|, 7. lim (2z+ Va?),
z—00 r+1 z——00 T——00

I. b. rész

22 ooz =2 . vVe+2-3
, 9. lim m —
z—1 1 —x r——1- r+1

8. lim

r——2 {I;2 —4 )

2 x
11. lim e1-= , 12. lim e(+=)? |

rz—1 rz——1
II. rész
2 -2 2_3 2 24 VA 2-—1
L odim 2572 g gy TS gy * 4 lim 2T ,
r—1 r—1 r—2 4 — 32 z——2—- X+ 2 rz——1 r+1
1 2 tgh
5. lim 6. lim =T 7 i 82T
z—1 /o — 1 z—0 T z—0 X
II1. rész

_Jx+2, haz>1, _Jx+a, haz>1, B Si“%, ha z # 0,
L f(x)_{xz—i—l, ha z < 1. 2. f(x)_{xz—i—l, ha z < 1. 3 f(:v)—{?”? ha z = 0.



